Math 7 REVIEW for TEST Name [Keyw ]
Chapter 4 : Rational Numbers Block Dot

This is a 20 point "Other Assignment". Practice problems must be complete, correct work shown,
and correct answer given. The KEY will be on my website before the TEST so you can correct AND fix
your work. This is due on the day of the test, Monday Nov 4, BEFORE the test.

This test covers sections 4.1-4.6, skips 4.7, includes 4.8, includes notes on operations with decimals
AND it is a NO CALCULATOR test.

You should be able to do the following:
*Convert fractions to decimals and decimals to fractions in simplest form.
*Compare and order fractions and decimals (including ones with signs)
*Identify number sets fo which a number belongs (whole, integer, rational)
*Add, subtract, multiply and divide fractions, mixed numbers and decimals with signs
*Solve application problems(including finding mean and median)
*Find the area and perimeter of a square or rectangle.
*Use the order of operations agreement with rational numbers
*Evaluate algebraic expressions using ratiohal numbers for the variables

You should know and be able to use the followina vocabulary words:

rational number bar notation terminating decimal

intfeger reciprocal repeating decimal

whole number improper fraction product

quotient difference simplest terms mean
median sum perimeter

‘area rectangle square




1) The table shows the distance Jon runs over a four-day period.

A) How many more miles did he run on
Monday than on Tuesday?
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C) How many more miles did Jon run on Sunday

than on Saturday?

D) Find his average miles per day for the four
days (Remember to refer to the total in Part B)
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2) Find the perimeter and area of these rectangles:
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3) Order these numbers from smallest to greatest. (Give final answer using the letters)
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4) Find the reciprocal
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1 | |

and ; L I

. =3 v Z
-
3 |

@

? ()=

0
()

Pr
7) 5% = —-53;- 8) Find the product of _55 9) Find the reciprocal of -8
-1 1 e _ -
_LL , ‘_ﬁ. and 10 - .5[' __L g — ,ii'
< 5 'TE e Lo and
] _@\“P nUMeErss a
\ ' C} W Aol
== =(13
= - |
10) —99 +(-7.9) 11) Evaluate -4a if a= .;. 12) Circle the number sets that
9. —-1.. -9 belongs to.
70 Z q /% :E_ational )

Whole




¢

13)

—0.0012+0.03

e

15) -82.4 +1.27
¢ §2§ o £ SOk rack 1‘\
)O.@@{ & i 0 _4,__1__5__ A(_“_WH Mﬁ‘;
T 5. W B¢ 3o
3Ho.lq ,
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19) 2 _ § 20) _2_ ~ § 21) Find the mean of these numbers.
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25) Write each decimal as a
fraction in simplest form:

26) Write each fraction as a
decimal.

27) Find the median of these
numbers.
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35) How many 2-£-ounce servings of cereal will | 36) Carlasaves 3 ofher allowance and spends :

beina 24 ounce box of cereal?

of her allowance. How much of her allowance is left?
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37) 4 -3 “ 38) Arecipe calls for 2 %cups of flour. If Sara triples
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